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Do Now: Match the symbol with the word.

1.) less than a. 2
2.) lessthan or equal to b. <
3.) greater than c. <

4.) greaterthanorequalto d.>
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Do Now: (Do Not Copy, Just Ans;veré>

1. A cybercafe chargeséersfee of

$2 for internet access. Write an inequality to
represent the access fee, f, then graph. ./ &

P e !Q%)p X =2
2. On the first two tests in math tlass. Collin
had scores of@anpoints. The third math

test is tomorrow Collin?oal is to have a
total score of(279 or highepjon the three tests|in
order to have an A average for this quarter.

What possible scores, s, can he have on the
test tomorrow to attain his goal?

“351x = 27
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16,333
R b 19 £ 2.5
9.5
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Homework pg. 141 #12-16
12. The@reatesbweight that a forklift can

raise is 2500 pounds. 4&: _ Q — iO

13. The speeis 55 miles per hour.
5 = 55

14. A truck can towem/ax—ir@/veight of
7700 pounds. t _— 770 D

15. You must be@ 48 inches tall to ride

the roller coaster.
) = Y7

16. You can sav $50 on DVD players
this week.
5 £ 5()
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34 06N
— Eo“wﬁ.S Solving Inequalities R

eﬂ&—\—'\k\;Using Multiplication or Division
Cy+3=]3

7.NS

7.EE > <D

—_—
—

« SWBAT solve (nequaliti ing multiplication or division.

. ’ .
« SWBAT write as an equation.

« SWBAT representsituations using algebraic symbols;
analyze situations using algebraic symboils.

o Calculators: No



3.5 PA.notebook November 10, 2015

Multiplication Property of Inequality

Multiplying by a positive: keep the same
iInequality symbol

Multiplying by a negative: flip the inequality
symbol
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Solve the inequality.
Poﬁ— & \LEEP
/'

6%%04\@ %(:—&52(4)6
L2






Solve the inequality:

—ln 4=—-19

\%G 3

=
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Solve the inequality: R
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Division Property of Inequality

Dividing by a positive: keep the same
Inequality symbol

Dividing by a negative: flip the inequality
symbol



Solve the inequalitby:N oy 1S k?(i?>

-18y& 72
,_\% g

Y 7 — -
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Solve the inequality.

-60 >(-13 + 53
;}éﬂtg“ - ;\()30

kil
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Solve the inequality.

1. 34 < -10t

2. -3t-37=<-27
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An elevator can hold a maximum of 2000
pounds. The average weight of a person is

150 pounds. Let p be the number of people
the elevator can hold.

a.) Write and solve an inequality involving
multiplication that models the situation.
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b.) What does the answer tell you about the
number of people who can ride in the
elevator?
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Exit Pass 3.5

Explain the difference between the
solutions of 2x > -14 and-2x > 14.
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"Don't blame the sea if you cannot catch a fish."
Working individually or with a partner, complete the workbook.

Workbook pg. 39 #5-12, 29, 30
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Reflection of Today's Lesson

3.5 Solving Inequalities
Using Multiplication or Division

7.NS
/.EE

« SWBAT solve inequalities using multiplication or division.

« SWBAT write a verbal sentence as an equation.

« SWBAT represent situations using algebraic symbols; analy.
situations using algebraic symbols.

o Calculators: No



3.5 PA.notebook November 10, 2015

Homework

pg. 146 #13-27 odds, 28-38 evens
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